SUMPOBRIESANILTOII L

=) SuMPO EPD A A YR T T AR R

.0 EPD si7umsss (EPD) SRR KEKAME-14-8
VERIFIED KANDA SQUARE GATE
B5ES - JR-CA-24004E https://ecoleaf-label.jp

WECO&J 0 TIMOYR (ZEhzE-ZERiR)
e Ly D] & SY—=X

SV-X FEMHLV2(SV)

<HZ-NUI-v3av>

SO (ZE*HZ) SO5(ZBEiR)
HEH( ERES JR-CA-24004E
e EFAPCRES  PA-249000-CA-01
PCR#% KM TFIAFVIEE
BRENRERPE NS 2024108118
mEcs ) L Eniky RAEEEE  202459A817RH
BEXNREFEE, EERRE. EE- UV REEA SR AR A =
ERBEE L, BRERERRE . EFERRS SRR L LT, RIEES JV-CA-24004
HEORKX, TEL&K-FEx REEEZEAR  202949A 168
A TIAFVIBEEEH PCRLEI-DENE
JISV-U &R R B R EREE RS M REHE 2023£5A8H
-<HiE 1 30x145%1,995mm EE6.42kg/ZA(SO1ETI) EBE L
R ZERZE, R (FFIE : —RAEEAYRTT TR A
hI-:L¥a5-28 B=EREE"
SR MBI, BRHE. FEIHI(Lv1/Lv2) HNERIREEE R Sk
SISO HFBRR  FuE-AYF 1ISO140258 & TNS021930(HE>TeARE E R UT -5 DML
‘BIMAEEY N IR EE
HASHIIVYF OWEs AR
T808-0021 L AMHHEMXERT—T B12F M1 ~VATLARIEBIEBEGRORTIDSB AR, YATARIEETLBESD
#ETERH.
Muwabhtk

HASITIVYE  https//www.eco-wood.jp
TEL: 093-751-2424

ZixES ¢ JR-CA-24004E



SuviPO

N '..E PD

1APAN

VERIFIED

SuMPO EPD
1T NRBEES

(EPD)

E#HES ¢ JR-CA-24004E

O317Y1 )V E T lifa R

SUMPORRIEESNILTOIS s
—MRAFEAS AT TN R EHEE A
RRBTFAEXAFHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 3.9 | kg-COqeq
[73k(d 0.0035 | kg-SOzeq
ERHE 0.000025 |  kg-Sbeq
mHE mER-UYAIL

AR IBHR| EfI At s | EE-UHOL

SIEZED kg-CO.eq | 3.9E+00 1.5E+00 2.4E+00

AV B E kg-CFC-11eq| 3.3E-07 3.0E-07 2.9E-08

2y dle kg-SOzeq | 3.5E-03 1.6E-03 1.9€-03

HHBATER kg-SOzeq | 2.2E-03 1.1E-03 1.1E-03

HALFZAFI IV kg-C:Hseq | 3.0E-05 2.7E-05 2.6E-06

BELEMEFENAKE) kg-CeHseq | 8.8E-04 3.2E-04 5.5E-04

BECEYEIEN) kg-CeHseq | 6.6E-06 6.0E-06 6.2E-07

KELRES N kg-CeHeeq | 4.3E-03 4.1E-03 2.4E-04

BEAEERES M kg-CeHseq | 1.6E-01 1.6E-01 5.6E-03

EXREL kg-POs*eq| 2.0E-03 2.0E-03 9.8E-08

R A (HEST) m?/4 9.8E-02 9.6E-02 1.6E-03

A A () m?/ 2.0E-03 2.0E-03 3.7E-05

BRHE kg-Sbeq | 2.5E-05 2.4E-05 1.1E-06
@ 38 S 15 45 © Y. 25 (CRE 9 B HEE

IEH Hify mE-9E (ERHS) B
FBERREE R 9.0E-02 kg N 50 %
FH/ETRIRIY- 5.9E-01 kg T32AF9Y 40 %
FFETRIRIY- 2.4E+01 MJ EARL- ZEH - AN 10 %
BERREER 1.8E-01 kg - 0 %
BEARIRINF- 8.4E+00 MJ - 0 %
RKDBEE 4.5E-02 m? - 0 %
PEH, CO2(b REIREER), RS, AHE | 3.7E+00 kg - 0 %
ER, BB, 44.7M/kg, B, FEBETRIALY- | 1.1E-01 kg - 0 %
HRb, BRMERIAY, KT, FEE | 4.8E-10 kg - 0 %
@FEEYEEIEH
IEH B

BEEEY 0.0E+00 kg

EEREEY) 7.7E-03 kg

—MRBEZEY) 1BIIY) 3.8E-12 kg

EEEZRY BuY 7.7E-03 kg

HKIMTHAIWICBIPREEMEERLTVET,



SuUMPO EPD SUMPOBEIEIAINTOIS A

SE“ME;’D _ — WA EEAY AT S IR RS
f .0 ,,,,, SA4TNBEBEE (EPD) ERTFAERE AR 1-14-8
VERIFIED KANDA SQUARE GATE
ﬁﬁ%% ¢ JR-CA-24004E https://ecoleaf-label.jp
GOEERKRICAAT2EMIER

B DI Y — BB OHIEIEREAPCRY FUAICE DV TEE L, BRERRE . EAREEIRALE,
[SYU-RBEIAT L[SV U-AEBISIL2T1T | 1530, BEAFHIRAROISY - RSB Lv.251T | ERRRTZLLT
HELE, AEEBENSESNIERRE R, 0.264kg. CO2EER0.966kgl 3,

®-1.Z0ftbDIRBERIEIFIR

HERETIIT Y3V R THEREEES © 0010813) TEELTVET,

LRREFIIV-IVREGREES : 07 137 003)EVSE M T,

LRGBS A 5741 THEE R T UHM I MBEEDEERX HH90% U L% H$HBRI0ZIEZ(FTTVNET, (FRAEHFSTC0807161)

©-2.5EMEICAT 28R
15H CAS No. ESE

OERLEZRT-9DEZS

IDEA ver.3.1.0&{ER LT,

®fiF%E

OT-YHENDH LR, PCRELVEE - EEHRBESRL T,
OLLEIIOVWTE, EE - EERBICRESNREEBLLLGELLLIREHONEEA,
(BBRJURL ! https://ecoleaf-label jp/regulation/)
E#H&ES ¢ JR-CA-24004E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

